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20 Questions Quiz: The Answer Sheet

School Name:
[J Ngogwe Baskerville Secondary School
[J Victoria Ssi Secondary School
[J Sacred Heart Secondary School
[J Nyenga Secondary School

Groop Name (make one up):

Question 1 (your answer):
[J A hole in the ozone layer
[J Too much carbon in the atmosphere
[J Too much pollution in the rivers

[(J Nobody knows
Question 2 (your answer):

[J Found Cin the periodic table
[ still looking...
Question 3 (your answer):
[J All three contain carbon
[J Two out of three

[ One out of three
Question 4 (your answer):

The Carbon Cycle




Question 5 (your answer):
[J About 10 years from now
[J About 50 years from now
[J About 1000 years from now
[J We can already see them now!
Question 6 (your answer):
[J Uganda
[J China
[J United Kingdom
[J United States of America
[J Saudi Arabia
Question 7 (your answer):
[J Yes
[J No
Question 8 (your answer):
[J Yes
[J No
Question 9 (your answer):
[J Arctic
[J Uganda
Question 10 (your answer):
[J Yes
[J No
Question 11 (your answer):
[J Tonnes of CO2 in the
atmosphere
[J iPhone users in London
[J Population in Uganda
[J Discovered planets in other
galaxies
Question 12 (your answer):
O True
[J False
Question 13 (your answer):
[J 100 tonnes
[J 1000 tonnes
[J 1000000 tonnes
[CJ 1000000000 tonnes

Question 14 (your answer):
(] True
[ False

Question 15 (your answer):
[J Increase
[J Decrease
[J Can't determine
Question 16 (your answer):
[J Indian Ocean
[J Pacific Ocean
[J Kampala being a large city
[J Irrigation in India
[J Climate change
[J All of the above
Question 17 (your answer):
[J Making the outside air colder
[J Keeping the warmth from
escaping the atmosphere
Question 18 (your answer):
[J The graph on the left
[J Two graphs below
Question 19 (your answer):
[J Red wine must come from
Bordeaux region
[J Limiting the size of ozone hole
[J Keeping the rise in global
temperatures well below 2
degrees
Question 20 (which did you pick?):

1 2 3 4 5
6 7 8 9 10
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